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301 TERMLDEE 852,000 0 852,000
302 XA EEEREHTESSNE 30,000 0 30,000
303 KEFDRBE 0 0 0
304 R R 0 0 0
305 HEUXA 0 0 0

HHNAEET(A) 882,000 0 882,000

X H
HEES == FEER BT b= L

401 XM EEE 30,000 0 30,000
402 XEEREEE 450,902 0 450,902
403 RESERE 270,000 0 270,000
404 NLES R 0 0 0
405 R—LR—ERE 4,000 0 4,000
406 EN iR & 0 0 0
407 BIE#E 10,000 0 10,000
408 HERE 10,000 0 10,000
409 ANHE 18,000 0 18,000
410 EmE 0 0 0
411 KEEDE 0 0 0
412 |[teEAREGRE 0 0 0
413 HHBERE 0 0 0
414 XERAEIRERE 0 0 0
415 FHen 0 0 0
416 HE 0 0 0
499 FiRE 89,098 0 89,098

BT HAE(B) 882,000 0 882,000

HHENZZEE(A)—(B)=(C) 0 0 0




